

Solve each problem below by estimating. PRACTICE 42. Circle the number below that is equal to 37×27 without computing the exact answer. 555 999 6,789 9,999 43. To estimate the product of 89×203, Grogg rounds both numbers 43. to the nearest hundred, then multiplies. Alex rounds both numbers to the nearest ten before multiplying. How much larger is Grogg's estimate than Alex's? 44. Circle the number below that is equal to 231×533 without computing the exact answer. 1,234 12,321 123,123 1,234,567 The quotient $24\frac{1}{3} \div 7\frac{8}{9}$ is close to what whole number? 45. 45.

- 46. Adam estimates 6×704≈10×704=7,040.

 Jon estimates 6×704≈6×700 = 4,200.
 Can you tell which estimate is closer without computing 6×704?
 Explain.
- **47.** Globb estimates the product 49×499×4,999 by rounding all three numbers to the nearest hundred, then multiplying. What estimate does he get? Is this a *good* estimate? If so, explain why. If not, how should Globb have rounded instead?



In a Short Circuit puzzle, each dot is labeled with an expression. The goal is to draw wires that connect each labeled dot on the left to a dot labeled with an equal expression on the right. The wires must not leave the room, cross each other, or pass through walls.

EXAMPLE

Complete the Short Circuit puzzle below by connecting the three pairs of equal expressions.



Since the numbers on the right side of the puzzle are not close in value, we do not need to know the exact values of the products on the left to match them to the numbers on the right. So, we begin by estimating the value of each product on the left.

 54×19 is approximately $50 \times 20 = 1,000$. So, we guess that $54 \times 19 = 1,026$. 72×33 is approximately $70 \times 30 = 2,100$. So, we guess that $72 \times 33 = 2,376$. 56×66 is approximately $60 \times 70 = 4,200$. So, we guess that $56 \times 66 = 3,696$.

We must connect 54×19 to the dot labeled 1,026, 72×33 to the dot labeled 2,376, and 56×66 to 3,696.



To avoid crossing wires, we can connect 56×66 to 3,696 by going around the wall in the middle of the room as shown below. We connect the other pairs with straight lines.



Short Circuit Puzzles

PRACTICE

Complete each Short Circuit puzzle below. We recommend you use a pencil.











